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It is entirely according to 1199 529 — N7 11991 939 77D

Overview

The X3 previously' cited a np1>mn between T1y9X "1 X701 21 whether there
is a 7OMW 7XM2 W 21°7 (7"), or not (X").

701 27 previously2 cited a Xn>"2 which states that jw is oMW %72 2°70.
The X773 there established this Xn>>72 in a case where both partners had nwa
m°9% and neither had oMW mwA.

X7°7 " asked (on this XnN»°PX) how can there be a 21°m of w; since both
partners have m7°9% nw, it is not InX 77w, To which *ax replied that since
there is no 2 MWY N it is considered a nR 77w (to the MW Hv2).

The %7 there discusses the options whether we can reconcile the
differences between 1" and X"9 (that they do not disagree, but rather are
discussing two different cases),” or that they argue in the same case as the
Xn»72 where X" follows the view of (the Xwp of) 1" [it is not a NR 77w and
therefore Jw is MW2o], and X701 27 follows (the X?17°9 of) 2K [that since there
is no ™MW MW it is a R 77w]. There is no conclusion there in the XnA.
TTYYR "M in our X3 maintains that the entire mwn is according to v and we
are discussing a specific case (where it is 121 M°0% TAR? T71N). Moo will
argue that according to the understanding of the case of v"7 we will be able
to resolve whether X"1 11"'7 are arguing or not.

— 09YY ATHY MY XYY M99 111 THNRD HTNINIA 13709) 193 XON
Here too* our text reads; it is specified for (the use of) one of them for
produce but for (the use of) neither of them concerning oxen. One of the
partners has permission to place his produce there. Neither of them has mw~ for their
oxen to be there. Therefore if one of the oxen ate the m7'® of the partner who had
permission to keep his mM7® in the 7xn, it is P17 MwI2 1@ and he is 2°1. Similarly if
either ox gored the other in the 7% it is as if it was gored 7"77172 (since neither has mwA to
be there) and is 2 a 1"n.>

mooIn has a difficulty:
— S3yv9 M9%aY BNNRYY XD YRYNRT NNPN

Tap.

IR,

*n"is discussing where it is 211w NP APR OIS MY NTIen (and W is 21) and X" is discussing
where it is 2™MWY A8 N7 (and W is MWD since it is not IR 7). See RIMK AT R, 7 "W,

* See ®2 "7 X,7° M0N0 where N1dOIN is 0713 there as he is here (different than our Xo7°3).

> However if the case would be like our X073 that 2 mw» 71 719, then why is there a 217 on the M~ since
it is not p1°17 71X, for the p°11 has NMwA that his ox should be there. See 190N there.

% If the rule would be that (even) by m°ob 011w the 1 would be 21, then the X113 should have
established the 7wn in a case where 2 1MW 7121 717 X2 M2 amw (for it is a greater w1 T°m).
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It is astounding! For it seems from our X713 that if both had permission to

place their produce in the 23n, the 1 would be N> -
— 9ANT NP19293) X997 2297 NOWIPA 29997 XONN VIVOIN 19 ON)

And if this is so (that X"9 maintains @ is MWD by a X1 which is DY
m°9% 0w and not 2°MWY), then we can resolve from here that X707 29
1y°o) ' are arguing in the question of 1" and the refutation of "»ax -

— POYDN VYN (x,7 97 IIYD)

And previously the X923 was doubtful whether there is a n?9m between 1™
X" (based on the »aRT Xp17°91 1"'77 RWIP), or not.® There should be no doubt; for there
definitely is a npYonn.

mooIn continues with this difficulty according to the other X073 as well:
— NION NOVUP DMV NDY MY Y0997 Y9991

And according to those text that read ‘both of them have permission for
their oxen’ to be in the 7%, the difficulty is in the opposite manner -
= 719°9Y 0HYY NTNNA YA NYT VIVIINT
That we can resolve from here that X"71 1"7 do not disagree where it is
NYT°5% 21w NTMIR and they both maintain that 1w is 277 -
— 19V OV NINY PI1TNID MY WY 29 DY GN PN 98N 1YY 2dPYUNY
For if X" considers it a 1177 9317 even when the 1% has permission to
leave his ox there’ (which is the case of v"1 [as long as only one has M55 mwM),
then -
— PN I8N 2PVUN HID DIINMVYY NN PRT NI 19V D5
Where it is not set aside for oxen at all, it is certainly considered a =3n
=TT -

1119599 DNIYY NTNPIRY 29 Y IN)
even though they both have permission for n795.'" Again the question is,
there should be no Po0; for "1 11" do not argue (according to this X07°3). Md0IN does not
answer these questions.'!

Summary

" See [Overview, and] the 8310 previously on X,7M 2,3 7.

8 See footnote # 3. The question there was whether X" says his 1°7 (that 7@ is 150w 7X¥12 WD) only in a
case where it is 2> MW M0 ow? N7y (and if it is only 2™ MWwH K71 M°9? N7y he agrees with n"'
that Jw is 21) or does he maintain (7"97 X°w1p2) that even if it is 2>IMWH 821 M’D2 NIN1M nevertheless 1w is
o, Here however the same X"1 maintains that if it is 2>I1WH X1 NM°9% 073°3wH nN7M A there is no W 211 (as
mooIn just proved). It is therefore evident that X" argues with 1" in a case of @MW X1 MPOH NTAMA.

’ We are now following the X073 of @ mw» 191 712; they both have permission for their oxen to be there.
' maon is of the opinion that the status of being considered a pr31 78 depends more on whether the 127
?°1i1 has no mwA to be there, than whether the 11 has permission to place his n17°0 there. Therefore if
when the 2°1 has nwA for his P17 W to be there, and nevertheless it is considered P17 7%, then
certainly if the P17 MW had no permission to be there, that it is considered 117 7% even though the P>t
can keep his m7d there. See X"wn. See “Thinking it over’.

' See "1 Moo who answers that (perhaps) X" said this (only) in the name of 2.
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It would seem that according to the &7 here we should be able to resolve
the doubt mentioned previously whether X" 11"'7 disagree concerning X1
amwi. The criterion of 21737 %1 depends primarily whether the P17 027
had permission to be there (but not whether the 21 has permission to utilize
it).

Thinking it over

Moo maintains'® that a %1 which is MY oIws TP and not DMWY is
considered more a P I¥M than a 2MW? QF°IW?Y N1PDY TN TAPAN X,
Seemingly we can argue the opposite; that a m79% Tn% TMna T30 is the
exclusive domain of the pri (the m o7 Hva) for the P17 127. However by
Mo oIy IR it is not pran Txn exclusively (for the M7°® which were
damaged). What is the underlying logic of moon view?"”

12 See footnote # 10.
13 See a8 772 mIpn NIX 3" .
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